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a. (3) Give 3 advantages of using U shaped manufacturing cells over a long production line.

Help out other workers



Shared resources and tools readily available for all



Better communication, workers become a community



Input/output next to each other

b. (3) Give 3 environmental requirements for Kanban Systems

Demand is approximately constant over a planning period
Small setup times

Available, flexible capacity

Disciplined workforce
2. (7) Describe how a Kanban system can be used to control material movement between the last 2 workstations in a 4 workstations line. Assume that 2 Kanban squares are used, that the workstations are relatively close together, a single product is manufactured and a single-Kanban system is used.

Workstation 3 makes enough products for workstation 4’s input buffer.  As workstation 4 goes through the product, a large Kanban square is revealed to signal to workstation 3 that 4 is in need of product.  In other words, when 4 needs more product, the large Kanban square is revealed as the signal for 3 to continue/resume production.
a. (3) Calculate the minimum number of Kanbans required to avoid shortages in a workstation loop that has a demand rate of 200 per day, a lead time of 0.25 days, and a container size that holds 4 items. Assume a zero safety factor.
D=200 units/day
T=0.25 days


K = [(200)*(0.25)]/4 = 12.5 ( 13 Kanbans

n=4 units

b. (3) Give 3 reasons why a safety factor may need to be included in 3 a.

Inconsistent demand

Unreliable processes

Long lead time

Unreliable supply chain

Quality issues

Delays
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